KENDRIYA VIDYALAYA SANGATHAN, CHENNAI REGION.
SECOND COMMON PREBOARD EXAMINATION -2013-2014.

Class: XII 2 Max. Marks: 70
Sub: Chemistry ; Duration: 3 hrs.

INSTRUCTIONS:
* Answer all the questions:

* Questions 1 to 8 carry one marlg each. Answer them in one word or a sentence.

* Questions 9 to 18 carry 2 marks each. Answer them in 20 to 30 words.

* Questions 19 to 27 carry 3 marks each. Answer them in 40 to 50 words.

“* Questions 28 to 30 carry 5 marks each. Answer them in 70 words.

* There is no overall choice. However there is internal choice in one question each of
Two mark and three marks questions. All 5 marks questions have internal choice.

* Calculator or any other electronic items are not allowed. However logarithm book
may be used for calculations. :

1) What happens when CdCl is added to AgCl? (1)

2) Give an example of pseudo unimolecular reaction. (1)

3) Define the term Peptisation. (1)

4) Write the role played by pine oil & cresol in froth floatation? (1)

5) Write the [IUPAC name the ionization isomer of [Co (NH3)sCl] SO4. (1)
6) Write the structure of 4-Bromo=2, 3 dimethylpentan-1-ol. (1)

7) What is Tollen’s reagent?

8) Why is vitamin C not stored in our body? (1)

9) What istsmotic pressure? How is it dependent on the number of moles of a solute? (2)

10) The conversion of A to B follows second order kinetics.If the concentration of A is
increased to three times, how will it affect the rate Qf formation of B? (2)
Or

State the role of activated complex in a reaction and state its relation with activation
energy.

11) In a first order reaction, the concentration of the reactant is reduced from 0.6 molL™” to
0.2 mol L™ in 5 minutes. Calculate the rate constant of the reaction. (2)
12. Out of C and CO, which is the better reducing agent at 710K? Why? (2)

13) Why is +2 oxidation number of Mn (Z=25) is more stable than its +3 oxidation number
while the-same is not true for Iron (z=26). (2)

14) Draw figure to show splitting of degenerate d- orbital’s in an octahedral crystal field. (2)
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15) Account for the following:

i) Aryl halides are less reactive than alkyl halides towards nucleophilic substitution
reaction.
ii) SN? reaction proceeds with complete inversion of configuration. (2)

16) Explain Sandmayer’s reaction with suitable example. (2)

17) The basic character of amines in the vapour phase decreases in the order (CH3);N >
(CH3):NH > (CH3) NH, > NH; while in the aqueous solution the order is (CH3),NH>
(CH3)NH; > (CH;);N >NHj. Explain. (2)

18) Write notes on

i) Coupling Reaction.
ii) Carbylamine Reaction.

19) Copper crystallizes into a F CC lattice. If the radius of copper atom is 127.8 pm. Calculate
the density of copper metal. (Atomic mass of Cu =63.5u and Avagadro’s Number
Na=6.02 X10* mol™). (3)

: Or
Iron has a body centred cubic unit cell with a cell dimension of 286.65pm the density of
iron is 7.874 gcm‘s.Use this information to calculate Avagadro’s nunﬁbér. (Atomic mass of
iron=55.845u) (3)

20) 200 Cm® of aqueous solution of a protein contains 1.26g of the protein. The Osmotic
pressure of such a solution at 300 K is found to be2.57 X107 bar. Calculate the molar
mass of the protein.

21) Explain the terms:

i) Electrophoresis.
ii) Tyndall effect
iif) Assotiated Colloid. (3)
'22) Account for the followimg
i) PCl; fumes in moisture.
ii) Sulphur is paramagnetic in nature at its vapour state.
iii) Phosphinic acid behaves as a monoprotic acid. (3)

23) Explain giving reasons:

i) Transition metals and their compounds are paramagnetic in nature.

ii) The enthalpies of atomization of Transition metals are high.
iii) The Transition metals show greater tendency to form complexes. (3)
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